Run 6216 mpswise, acc0: All Run 6216 mpswise, accO: Beam OFF
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Run 6216 mpswise, BCM: All
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Run 6216, mpswise, BCM: Beam ON, Laser OFF
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Run 6216 mpswise, lasPow: All
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Run 6216, mpswise, lasPow: Beam ON, Laser OFF
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Run 6216 mpswise, bpmAx: All Run 6216 mpswise, bpmAx: Beam OFF
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Run 6216 mpswise, bpmAy: All
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Run 6216 mpswise, bpmBx: All

Run 6216 mpswise, bpmBx: Beam OFF
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Run 6216 mpswise, bpmBy: All
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Run 6216 mpswise, bpmBy: Beam OFF
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Run 6216 mpswise, beam ON, laser ON Run 6216 mpswise, beam ON, laser OFF
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Run 6216 mpswise, beam OFF, laser ON Run 6216 mpswise, beam OFF, laser OFF
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Run 6216 mpswise, beam ON, laser ON
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Run 6216 mpswise, beam OFF, laser ON
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Run 6216 mpswise, beam ON, laser OFF
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Run 6216 mpswise, beam OFF, laser OFF
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Cav Power
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Run 6216 mpswise, beam ON, laser ON Run 6216 mpswise, beam ON, laser OFF
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BPM Ax
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Run 6216 mpswise, beam ON, laser ON
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Run 6216 mpswise, beam ON, laser OFF
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Run 6216 mpswise, beam ON, laser ON
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Run 6216 mpswise, beam ON, laser OFF
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Run 6216 mpswise, beam ON, laser ON
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Run 6216 mpswise, beam OFF, laser ON
rr l TR N H R R ST A TS R U K S S N SRR |73 [ 5
100 200 300 400 800 600

BEPM Bx

BPM Bx

20

—20

—40

60

—80

20

40

—60

—80

Run 6216 mpswise, beam ON, laser OFF
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Run 6216 mpswise, beam OFF, laser ON
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Run 6216 mpswise, beam ON, laser OFF

I R U E T S ST ST S A U H T T S U N S S MU SRR |13 ' n
100 200 300 400 500 600
mpsCoda
Run 6216 mpswise, beam OFF, laser OFF
IR U H T S ST (ST S R U A S U N S S MU SRR |13 ' n
100 200 300 400 R00 GO0



